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> (1+2)*(3-4)*572

ans = -75

> exp(10)*log(5) *sin(0.5%pi)
ans = 3.5450e+04

> exit

exitd Octave 0000000000000
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> A=[1 2;3 4]
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3 4
> b=[3;4]
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> AxDb

ans =
11
25

00000000000 0000O0O00000o00
> C=A%*Db;
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000000 http://www.gnu.org/software/octave/ O http://
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> C?
ans =
11 25

gboboobobobobobgoboobobobob

> A(2,1)
ans = 3

gbooobooboobgoobooboobooboo

> A(2,1)=5

1 2
5 4
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> AC:,1)

ans =

gboobouaooooboboooboaoboaod

> D=3%A

3 6
15 12
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> A.xD
ans =
3 12
75 48

> A./D

ans =
0.33333 0.33333
0.33333 0.33333
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> e=10:5:30
e:
10 15 20 25 30
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> cos(2/3*pi)
ans = -0.50000

gobooboobboobooboooboboooboo
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> sin(f)
ans =

0.84147 0.90930 0.14112 -0.75680

0000000 sin, cos, tan, acos, atan, tanh, exp, log,
sqrt 0000000000000 helpOOOOGQOOaA

> help exp
OO0O000D help-i0D info000O0O00O0DODOOO
> help -1 exp

ob000O0000b0o00000000D00max, min,
sum, prod DO O0OOOOOOOOO

> max([1 3 5 2 4])
ans = 5

U000 imvOOOO0O00

> A=[1 2;3 4]; inv(A)
ans =
-2.00000 1.00000
1.50000 -0.50000

uboobOoboooobobegbOOOODOO

> [eigvec eigvall=eig(A)
eigvec =
-0.82456 -0.41597
0.56577 -0.90938

eigval =
-0.37228 0.00000
0.00000 5.37228

0000000000 00D00O0 mean, std, var 0O
ooooboooo

> var([1 2 3 4])
ans = 1.6667

0010000000000 randOO0OO0OOO 10
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> randn(1,4)
ans =

0.22797 -1.63055 0.38559 -1.66595

ob0O0Osort00O0O000Og

>[sorted index]=sort([7 3 6 1 2])
sorted =

1 2 3 6 7
index =

4 5 2 3 1
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Octave 00 0O0OO0OOOO0OOODODOOOOOOOO
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> x=[-2:0.1:2]; y=sin(x); plot(x,y)
0000000 histODOO0O0O0ooo
> a=randn(1000,1); hist(a)

30000000 surf, meshOOOOOO contour OO
oooo

> x=[-3:0.1:3]; y=stdnormal_pdf (x); surf(y’*y);

OO00D0000 print OOOO00OO0OC0O0DD LaTeX
gboooboodbddepsbgbognooonoono

> print -deps graph.eps
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A=[1 2; 3 4];
b=[5;6];
C=A%b;
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> pwd

ooooOoODObO00000000000000 myscript.m
O00000000D0ODO0OCOO0O00000O0OctaveO OO
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> myscript

O0000000000myscrippm 000000000
ooooooobo
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OO0 for0000O0OO00O00O100 1000000000
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n=100;

a=0;

for i=1:n
a=a+i;

end

Octave UO0O0OO0O0O0OOOOOCOOOOOOOOOOO
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gboodb n=1000000000000000000000

a=sum(1:1000000) ;

uboooboobooooobooon
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x=-10:0.1:10;
for xx=1:length(x)
if x(xx)>0
y(xx)=x(xx);
else
y(xx)=-x(xx) ;
end
end
plot(x,y)

uoboobooboboobooboobooboobo

x=-10:0.1:10;
y=zeros(size(x));
y (x>0)=x(x>0) ;

y (x<=0)=-x(x<=0) ;
plot(x,y)

0000 whileOO switchOODOOO

O0: 0000000000 functionO0O0OO00O0O0O
obooooooooOoobooobooboboboboobon
bobobobobobobooooboooboboo
OO0 gpdfmO0OO0O0D0OCOOOO

function z=g_pdf (x,mu,sigma)

z=1/sqrt (2*pi*sigma”2)*exp (- (x-mu) . 2/ (2*xsigma~2)) ;

U1 0oan

gobooboobbooboobooobboooboo
gbooobOoboooooboon

clear all;

mu=0;

sigma=1;
x=[-3:0.1:3];
y=g_pdf (x,mu,sigma) ;

figure(1);

clf

plot(x,y);

print -deps gauss_pdf.eps

6 UUouobgooooon

uboooooooooooobooooboobood
00000000000000 1(a)0000

ix 0<r<l1
% Arix 1<x<?2
fey=14 4 2<w<3 (1)

O00: JO00ODoOOOOo0O0oooooDoD ftmDOODO
oood

function y=f(x)

y=zeros(size(x));

flag=(0<=x & x<1);
y(flag)=0.25*x(flag) ;

flag=(1<=x & x<2);
y(flag)=-0.25*x(flag)+0.5;

flag=(2<=x & x<3);
y(flag)=0.25%ones (size(x(flag)));



flag=(3<=x & x<4);
y(flag)=0.5*x(flag)-1.5;

flag=(4<=x & x<=5);
y(flag)=-0.5*x(flag)+2.5;

O0ftm0O000000O0O0OOOOOOOO0OO0 f(x)
gbooobobooobooboooobooooo

clear all;
n=10000;
u=5*rand(n,1);
v=0.6*rand(n,1);
flag=(v<=f(u));

figure(1);
clf
hist(u(flag==1),50);

figure(2);

clf

hold on
plot(u(flag==1),v(flag==1),’bo’);
plot(u(flag™=1) ,v(flag™=1),’gx’);
x=[0:0.1:5];

y=1f (x);

plot(x,y,’r-?);

0000: 000000000 f() 0000000
F(z)0OOO F-Y(w)00DOO0OOOOOOO

y@?l 0<u< %
2-v2-8u <u<j
F_l(u): 1+ 4u %§u<% (2)
3+V-2+4u j<u<}
5—VA—4du 3<u<l1

ob0oobO00o0000obo FinvmdOOOOOmO

function x=Finv(u)

x=zeros (size(u));

flag=(0<=u & u<1/8);
x(flag)=sqrt(8*u(flag));

flag=(1/8<=u & u<1/4);
x(flag)=2-sqrt(2-8+u(flag));

flag=(1/4<=u & u<1/2);
x(flag)=1+4*u(flag) ;

flag=(1/2<=u & u<3/4);
x(flag)=3+sqrt (4*u(flag)-2);

(a) f(x)
02000000

flag=(3/4<=u & u<=1);
x(flag)=5-sqrt (4-4*u(flag));

U0 FinvmOOOOO0OO0OOO0O0OOOO0O00OO0OOOO0O
O f(zxy DOOOODODOOOOOOOOODOOOO

clear all;
n=10000;
u=rand(1,n);

x=Finv(u);

figure(1);
clf
hist(x,50);
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(Laplacian distribution) 0 0 O O

(&) = 5 exp(~a]) 3)
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(b) DODODOOOCOODOOODOODOOODUOOOOOOO
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good

flx) >0, /f(x)dx =1 (4)
ogo0ooo0oooooooooooooooono
O0. OO00O0O0ooooobooooooooooooo

oboooooooooboobooobooboboboobon
goooo



